SGP&KZP4 % 7|3 5 %%
SGP&KZP4 Series Gear Pumps

SGP1 Z%iEHHZR SGP1 gear oil pumps

Tise

B B!SiREE Model Code SGP1 — 32 D 2 H 1— L x

— s — . =— — B

D @ 0 0D ® O

(LSGP1 Series
@)% 2 1E O R Mounting spigot diameter
— ©825%! A:D82.55)
C:®808,, B®85)%°
EAFRHERE (EFHEE)
Nominal displacement (ml/r)
19. 23, 25, 27, 30, 32. 34. 36
@M O E Position of ports
D. REM O Rear port
F.MEHMO (F£F=FL) Side port(on cover rear )
A WEMO (£3RE L) Side port(on body)
®h Oz Port type
1.SAEZ=A0 (RAFMm)
SAE flange port ( side only »
it A Inlet: ©25; 52.4*26.2; 4-M10%1.25
O Outlet: ®20; 47.6*22.2; 4 -M10*1.25
2.G ¥ (JISB2351) [FIPF #84r

3.UNF $2&r UNF screw thread
4 NEIRET Metric screw thread

9.%%% Special
® % #7738 Mounting
H: 7k FEFH @24 18+2 ch 28 Horizontal 2 bolts:106
H1: K FE 75 m24-4842 s 8B Horizontal 2 bolis:130
@4k {# 7% Shaft type
1. SAE{E#E SAE spline: 16/32DP, 5% Teeth No.: 13,4€ Length:42
2. EgEH (3heEED20) Straight spline(dia. ©20)
5. SAETESE SAE spline: 16/32DP, 5% Teeth No.:10,4cLength:33
H.3ER:1L 82 Rectangle spline: 6-20%16%4 , {&€Length: 70
H1. $E2{£ %2 Rectangle spline: 6-20*16*4, {¢Length: 41.5
9.%%5%% Special
@nEss A a ($3%F) Direction of rotation(from shaft end)
L: Z=/E (¥Rt4t) Left rotation (counterclockwise )
R:5HE (WEE$r) Right rotation ( clockwise)

+ TAIZHOU

ETERNAL HY DRALULIC

& L r
G screw thread (JISB2351) same as PF @ikitiFS Code numbe
|Mark G G G2 G3_
EiBEO Inket 51 1 Giv: Gt
M O Outlet ) G G Gl
B 148ES# Specification
/ £ 751 Pressure % # Rotation speed 1
2 kil (Mpa) (rlmin) Vehimatic 1 s
Model displacement X5 TE BE BIE i BE Efficiency ‘ kﬂ}
mir ) Rated Max Min Rated Max (=% ) g
SGP1-19 19 115.5 35
SGP1:23 23 118.5 37
SGP1-25 25 122.5 4.0
SGP1-27 27 20 25 800 2500 3000 92 124.5 4.0
SGP1-30 30 126.5 41
SGP1-32 32 131.5 43
SGP1-34 34 136.5 45
SGP1-36 36 136.5 4.5
B DA D Styel QOil Port o
14
52 49 130
30 | 25 6.5 106
T
o T
=3 £l .
0 %'jé || e =
- Rz : i
2 r

o outiet / i) “H{*Féit’{ 1 1] ‘E

See Shaft type



SGP&KZP4 % 7| ¥4 % e
SGP&KZP4 Series Gear Pumps Yo 1 ALLE

ETERNAL HYDRAL LIC

Ei#EY ( Rear Port )

i =
Displacement 23 25 27 30 32 36
Al 117 118 122 124 128 132
B
B AZH O A Styel Oil Port A
3 : 65 |
MEHRO ¢ Side Port ) 4-M10x1.25
MO Inlet port| @A outllet port \
Dis %cgnent A B A1
P cil e LBl e ez [ID o 3 B Y =
o 5 | 7R
30 64.3 | 124 g 'f"'“' — ____%_L__w__ =
32 66.3 |128|26.2|52.4| 25|22.2| 47.6 | 20 gﬁ |
36 68.3 | 132 3 / _d TOIN]
o | © =
B FA5E0 F Styel Oil Port |
. ST “WiEk" U ;
See Shaft type v C1
: B
H 2
1 A Displacement A E
63 23 107.0 130.5
s [ — 25 108.5 132
= & D. TP 27 112.0 135.5
ﬂl-r' = —— L I
L 1 g 30 114.5 138
== # 32 118.5 142.0
=}
L { \ 36 1225 146.0
| ™ ol
i LA LS

|
v, RSO

2
e il
;j rC ] 1
SR SR Flange Port

See Shaft type

2: 4 Straight Spline

1. SAE¥RE 42 h: SAEIRAE 33
5 &1 Tooth No. 13 a3 5 # Tooth No.10 - e
D. P. 16/32 s D.P.16/32 = L e L
[% 71 £ Pressure angle 30° I FE 71 £ Pressure angle 30° |~ Flange
C.P.0.1963" N C.P.0.1963” — |
&I £ Outer dia. ) == 4p & Quter dia. [ — b o prm— q S i
@ 21.80 . @ 17.043 24 (|| i i
o 2168 s 16.916 s Ak -
G EE Inner dia. ©18.63 I &SR Inner dia. 213.86 T |
s \Jr/
H, H1: 3 eR 9: $5¥kE $% Special ord D
70(41.5) /'—iﬂ
53(25) 4 Do
= ' ' &l {6 2 2K
| . Shaft end 2 2 ' 2

; = | ~ g3

e — - 1i% O 25 T4

L | . ) Straight spline 20 B 22.5 42

= NO.2
o6

(VAR<THH1SEBR T



SGP&KZP4 % 7| ¥4 % e
SGP&KZP4 Series Gear Pumps Yo 1 ALLE

ETERNAL HYDRALLIC

SGP2 #5EH R SGP2 gear oil pumps

1_ L &k
@
(1SGP2 Series 2. G#24r (JISB2351) [FIPF #24r
@32 1k O R~ Mounting spigot diameter G screw thread (JISB2351) same as PF
—: ©8200% 20102008 #HimOinlet: G1  HiHh0O Outlet: G3/4
A:®8255), B:d101.6) 9. %55k Special
@AFREER (EFHE) ©%%& 7737\ Mounting
Nominal displacement (mlir) H: 7K E A B 2788 # 5 §E Horizontal 2 bolts: 106
32 36.40 44 48 52 H1: 7k FH B2 882 #(» 38 Horizontal 2 bolts: 130
@ O{LE Position of ports Tah{MA R, Shaft type
D./FHE#O Rear port 1.SAE?E §2 SAE spline: 16/32DP 1524 Teeth No.:13,4¢ Length:42
Film#aO (#5151 Side pﬂrl'_[:nn rear cover) EEF'%E {ﬁﬁﬁ& D 20) Strﬂlght EpllnE{dla D 20)
AMiEARO (EZRK L) Side port(on body) 9.%¥%k Special
EmOKR Port type @hE4E e (§hi%E ) Direction of rotation(from shaft end)
1.SAEE =3O L: 25 (iFEE) Left rotation (counterclockwise)
#HiHO Inlet: ©25; 52.4*26.2; 4-M10%1.25 R: &R (JAETEL) Right rotation ( clockwise)
i Qutlet: ©20; 47.6*22.2; 4 -M10*1.25 ©@1&1t = Code number
B TEEEE=2] Specification
£ 51 Pressure i%* Rotati ed
we QRS 'Mp2> e MBS x
Model displacement HE ) B "
m/r ) Rated Max Min Max pips (kg)
SGP2-32 32 - si4 3000 5.7(5.1)
SGP2-36 36 5.9(5.3)
SGP2-40 40 226 27.5 400 3000(2500) |  -0.02~0.2 6.1(5.4)
SGP2-44 44 206 24.5 6.3(5.6)
SGP2-48 48 18.6 22.6 3000(2500) 6.6 (5.9)
SGP2-52 52 17.2 20.6 6.8 (6.1)
SGP2-XXF1HX-LXXXX
L1 6> 4-M10 F22
RS 2 T BRMERR o
4M10 F22 See Shaft type Inlet Oil Port
Dueh > & RSk AR
\ B ! See Model Code
ml H’*.\‘_.fi L 1 | | L | 'li"']
- T PSE ) i -
g . JTTR(P Legetlol |
9 0 S L ; D
'q'. f I I'\-._ JI _."'J
N8 D | 8] . 1 — | |
| 2y / 30.240.3
' - EES TR 332
1§§ . 26.2+0.3 _HLII A =
@25 iE: RERTLEEL1.0

ETL-G/ 03



SGP&KZP4 Series Gear Pumps e

R47.5 4-M10 jF22
L3 6.5 Deep 22
4-M10;%22 |- - W AR 4 p
Deep 22 N See Shaft type -_—
&N ASiHAR A1
@25 See Model Code _J | BT 1
i O - o é} |-
Cutlet Oil port L 0 I oy SN |
i E | =
o N - - E__
Ly =y sk
= o ! T a1
i O =
=
e 302+03 &
i#h O @32
Inlet Oil Port i RERSTRAESO
R47 5
' L3 65 snumRRk
See Shafl type
n £ |
W i = = | i L |
i v 1 N
m I'l_- I 3 = T __I__
] s v
LI i
32. , 26 t ; %
| L B =
| £ 005123588
See Model Code
LRI E: N _pnﬁ Di.apiﬁﬁﬁiament L1 L2 L3 L4
. R RTAEL] 0 20 140.9 99.6 107.4 52.8
23 143.9 102.6 1104 54.3
25 1459 104.6 1124 55.3
2T 147.9 106.6 114.1 56.3
32 152.9 111.6 119.4 58.8
36 1569 115.6 1234 60.8
44 164 .9 123.6 1314 64.8
48 168.9 127.6 1354 66.8
Shih iz AR 52 172.9 131.6 139.4 68.8
SAE#f FF e T 52 R
28 . mg 1: SAERRE 42
ST E E' 5 &) Tooth No. 13 44
Q| @ D. P. 16/32 -
/ o | = [ 71 /A Pressure angle 30 ° L
2 S| ® C.P.0. 1963 " =
o &b % Outer dia. =
@ 21.80 ==
S o @ 21.68 18
#HJE{E Inner dia. 218.63 =
i




SGP&KZP4 Series Gear Pumps e

KZP4/KRP4 555 3R KZP4/KRP4 series gear pumps

W BISi5%BA Model Code

KZP4 . KRP4 — 7 A P ._S_. B__ E
@ @ ® ® ©® ®
(DKZP4, KRP4 S:SAE B4h AR
QOIHE (EA/ME) SAE screw thread port
Nominal displacement (ml/r) HEH O Inlet: 14 -12UNC
19,.23.27.33 il Outlet: 7/8-14UNF
@NEsE A E (BIEH) @i A{i ] Position of ports
Direction of rotation{ from shaft end) RetH#mOERIE (EFEEL)
A ZEiE (iEETEE) Left rotation (counterclockwise) Inlet. outlet both at the side (on body)
C:AmE (4D Right rotation ( clockwise) AfEHOEREL, ¥BOEFE= L
@4h {83 Shaft type Inlet on body, outlet on cover front
P g straight shaft S: SAE E# SAE spline @& % Mounting
THEE & Taper shaft X: #FAERE Involute spline B. 775 [m 21242 R 2E Horizontal 2 bolts:106.2
&3m0 Port configuration 242 Bolts: M10*1.25
S.SAE A=A SAE flange port C.7kFE A @2/~ 1842 .88 Horizontal 2 bolts:106.2
O Inlet: @ 25; 52.4*26.2; 3/8-16UNC (M10*1.25) M 7L Inner bore:® 11
O Outlet:®18; 47.6%22.2; 3/8-16UNC (M10*1.25) D. KFF m24-ag 42 (26 Horizontal 2 bolts:106.2
D.#5m 0O Inlet: SAE ;%= SAE flange F [ Opening
H3H 0 Outlet: 7/8-14UNF
B 148E2# Specification
- AERHE EEEH i% £ Rotation speed 55
h;ﬂ? I disﬁ?g]ngment Max Pressure Gl Weight
L “milir ) (Mpa) i {E Min = m Max (kg)
KZP4/KRP4-19 19.2 3 3500 32
KZP4/KRP4-23 229 ' i 3000 3.3
KZP4/KRP4-27 26.5 15.7 560 3.4
KZP4/KRP4-33 333 13.7 3.5
B R<El Dimension
130 3 L B
P L : 106.5 8

1 |
_524%0.1 /_‘\ L
2-M10x1.25 ==

4-M10x1.25

B
o= L — B
. 4 E : ] B
L '-: — I_
S| 1T i ;[ o8 : g
- il -1
£ .E_ g =
J

""—\_H_‘_IJ_

SO




SGP&KZP4 Series Gear Pumps R L vy

ﬁ 524%0.1_
2-M10x1.25 '

—

noar

0

l
@ 82.55

t.

7/8-14UNF,

18

=

M ]

™

4 &} E i

o 2

. 130 -
- 106.5+0.1 o
2 2-M10x1.25 / \
5 @ N
ol - s
oo l
E K
718-14UNE "\ {5 \%
18
8 straight shaft MATRER Involute spline SAE{E#® SAE spline
T 35
47 35 AT TE _ Al SAE
Invn#ﬂféf‘;’jﬁne SAE g%%ne
5| 28 | 25 .4 3 f
B | ﬁ ﬂ 13 ﬁﬂ 10
A-A 2 Teeth No. 21 Teeth No
P | i g 10 R 81
- 5 @ﬂbﬁ% - D.:E 16132 TE *ﬂ‘ Modulus 1.5
----- - fr-=sbd=s " EAR M- T EAm
19-5@/ e e o Fressure angle 30° E Pressure angle 30°
A KiE
- hhjn:::dﬁmatar 817 513 - Major diameter | 17 ‘oos
L - i iz 0
Minor diameter | S13-2 01 Minor diameter 913.9 o




kLR Qﬂmznou

Forkliﬂ Gear Pump ETERNAL HY DRALU LI

GPAF|WEL L= KZP4 253 B 550 4R CBW/FA-E&RIEH R
GP Double Gear Pump KZP4 Double Gear Pump CBW/FA-E Gear Pump

S
S

R,

. ’._. ; 4 | ‘H.__..‘, _
SDY & 5550 R E3R CBTLZT-FIFiN%# %R
SDY Gear Pump CBKL-G/G Gear Pump CBTLZT-F/F Gear Pump

CBK-G4** #3154 3R CBQ-F550 g% & CBF-E440 5% &
CBK-G4* Gear Pump CBQ-F550 Gear Pump CBF-E440 Gear Pump

% i
T = P
iy R -

NB-A10/20 #h % KZ-A10C ¥ CDB7-F* %51 % 858
NB-A10/20 Transmission Qil Pump KZ-A10C Transmission Valve CDB7-F** Series Directional Valve



	SGPKZP4-1
	forklift-gear-pump

